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Solutions

1. a) Write each term in row 9 of Pascal’s
triangle using C.
b) Write the first five terms in diagonal 4 of
Pascal’s triangle using C'.
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A< 954
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2. Use Pascal’s method to complete the array.
78 286 b
a 1001

C

oL = 28 + 2834

O+ (o0 = C

¢4 + ool = <

[ B3£S = <

3. The first three terms in the expansion of
(z + y)" are
A o7, 1By, 5y
B 7, x5 +°
C =y, Txyf, 21xy°
D 17, 725, 2125
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5. Write the first nine rows of Pascal’s triangle.

Circle the given terms in Pascal’s triangle, a) 5Cz + 503 b) ?6:3 + ?Ca;
then circle the correct answer to help c) C.-C d C-C
use Pascal’s method to rewrite each of STa 4 876 776
the following:
] m) S Cl + < - 3
1 1
1 2 1 = 2D
1 3 3 1 - & CS
1 4 _ _\6{, 4 1 -
1 5 (10)_(l : 5 1
1_6_15 (20015 6 1 19) >Cz + >«
1 7 21 (35135 21 7 1 o
1 8 28 5 (0) 5% 28 8 1 = 8C¢ =
— C
1 C-) = CLF— Y4
1 1 Vi ¢
1 2 1 = <3 =
1 3 3(}_\\ l;—\
1 4 6 (4) (1) _ ‘<
1 5 10 10(5) 1 d> 8C¢g — &S
1 & 15 20 15;_ 6 n 1
1 7 2 35 35 @) (7) 1 = 5C¢ = 7
1 8 28 5 70 565'::,:228/: 8 |
6. Communication b) Describe the results.
a) Evaluate each of the following:  ¢) Identify the terms from part a) in Pascal’s
I] zc'z + 36'2 triangle.
il .C+ C d) Summarize the results, in general, as
32 T a2 . . ’
’ they apply to combinations and Pascal’s
iii) G, +5C, triangle.
DD 2C2t3% W 3 +¢C (¢ +s5%2

b) 771@ ove ol Pe/:,fece Sgpmares
C) Al of Peo fermns ove in d’%ﬁo"“"‘l—z

a() 7)1 e ove A= SU\N\O{; aaQ‘g"O\CZ—\’(— fer~~S (A
& 2. of~ orscols Priengle.
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13. Use Pascal’s triangle to expand and simplify. a) (= + y)*

L o > | & 2
(e f = 5CaFom o 8, 570! - 5Cemts

3 s
+§%J§33+3Cy£@#+8csx59
> 8
b CemToE + g Coly” +5Ca Y
s
— B & gx_?‘p + 28.::.692' +S6€é€x 9: 2
L 7oxbT 4 SExPHS + 28>+ ExYTH O

13. Use Pascal’s triangle to expand and simplify. b) (z-y)°

<_L"D_>S- = s Coxl bt SCTED + SCZJQ?(‘D)z

+ G xTEOY +5Ce = (Co) ey

= 5= — S;cf‘“j + le_?’jz—[o.x:t73
+5xyT —y =
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13. Use Pascal’s triangle to expand and simplify. ¢) (2a + b)*

(ot = (oG (W + < (@R G @G
+ 4 (@Y +uce W"
= (VD) + (D8I + E(4)(L)
+ & (@) + (9 (TP

3, L%
— Lot +32a3b + 2a LT+ EabT b
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